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1. E.V.R Maniammaiyar ninaivu marriage assistance scheme is meant for

a. Orphan Girls b. Couples of Inter-caste marriage

c. Daughters of Poor Widows d. Widow Remarriage

e. Answer not known

F.CauLyT.  oeWbedWTT  Heneia] SHpwent o HASHU LD _  DeUTHEHHHTH
9 (HEUTSHSBLILIL (HEITerG).

a. suHTeuBm GCLewISe6N b. sevliyd HHID GFUIUD HIDLIS B
C. M AIHEMEUWIT LDSHGITHGIT d. ailgsemer DXILDEILD

e. alenL G flwalsvenev

2. Sri Naryana Guru Swamy initiated a programme of action called Sri Narayana
Guru Dharma Paripalana Yogam which took up issues regarding:

1. Encouraging inter-caste marriages
ii.  Right of admission to public schools
iii. Recruitment to Government schools
iv.  Access to temples and roads

a. 1, 1i, and iii b. ii, iii and iv c.1,iii and iv

c. i, 1i, iii and iv e. Answer not known
WFETITWET  GHIFTO  SHleumidlwl,  [BIJTWenT ST
alaguimisemen (LPeTele(BHHSHI?

1. HOLILSH H(HLOTHMS 2618 E el 5HFH6e0

1i. QuTgI ueTeMaefed SienIDg)

1.  9s ueeaiseisy BxibOHBHSLILIGHHD

iv. GaralevseT LBBID FTenevdeied GFe060 SiEnIDS)

a. i, ii ommib iii b. ii, iii Bmbd iv

uflumevenr  @uIGHD  6hS

C. 1, 11l LoBmID 1V d. i, ii, iii w@Bpd iv

e. alewL G flwealsdensv

3. Electron was discovered by

a. Newton b. ].J. Thomson

d. Chadwick e. Answer not known
G10eLHL T HEIBLIQSHHOUT ___ LeuT.

a. muyl L e b. 0:,.03. HTibgen

d. gm’ el e. alewL OFflwaisvensv

c. Roentgen

C. [JTGu0IL_ Q60T
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4. Fraunhofer lines are the example of spectrum

a. line emission b. line absorption c. band emission
d. band absorption e. Answer not known

CSUgmer..u euflee _ BIBOTeNevHE 61BSHHISITL(H SLESLD.

a. aufl Qeuaial® b. sufl 2 | seui C. ULl Geuaial®

d. ulewL o U seu e. alenL O flwealsdensv

5. The institution of ombudsman was first created in

a. Norway b. Sweden c. Denmark

d. US.A e. Answer not known

GOBHTHGID MWD 6THIG (IPHST (LpHevled CHTHmIaNSSLILL L G b
a. BrGe b. #ai_er c. GLenonia
d. oGwfdsT e. alewl OFHfluialsvensv

6. Article 326 of the Indian constitution is related to which of the following?
a. Election to the lower house to be based on universal adult suffrage
b. President
c. Parliament
d. Supreme Court
e. Answer not known
ShHw  oduwevenoliiar 326-b old D STWILILGD  eTenal/eTend  (GHPbH RIS
(UBPlws)?
a. ésaemeaudbsTear  CxTdped euwgd  ubGHTT  eaumd@Men-ar  SigliLienLufled
bL SIS
b. @uwirgHsHHmevauT
C. LIMJT(@HLDGOIBLD
d. e &5 pdwemsid
e. alewL G fwalsdensv

7. Which one of the statement is not correct regarding the Trichy Proclamation
i. The Proclamation was published by Marudu Pandiyar
ii.  Itcreated a confidence among the people
iii. It notrevealed the National feelings
iv. It condemned the political activities of Carnatic Nawabs and
Muhammad Ali
a.ionly b. ii only c. iii only d. iv only
e. Answer not known
SpssamiLeuBpled HmEFS LlgsLend uBps SHeuprer gaBml 6187
(i) @udysLend wmSHUTEIWITESMTe GeuefuiL i’ L g
i) @iy end WwHHEHHSG HbLbmasmul gBUBSHHUIS]
ii1) UpsLend Cahdlw Fhpmeienwl GCeuaflLBGHHUSTE DIEHLOULIATEOMEV
iv) ouBar®  Beuml B@ID  (PHEH  DeIulesT DTS  BLEUIYHMBHEMEI
AUITSLOID BN HBHSHI.
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a. 1wl B b. ii w1 @Bb C. iii o (BIb d. iv o @i
e. alewL G flwalsdenev

8. TN tops in the production of the following crops, except

a. Banana b. Coconut c. Plantation Crops
d. Cardamom e. Answer not known

Lt o BusHHuled ebhd Lulemrshsaly SIS (peiterealulled © eiTeng
a. euTenpLl LIPLD b. GzpmisTul c. CGamiLy vuliteerr
d. gevdasmul e. alenL O flwalsdemev

9. In what time will ¥ 5,600 amount to X 6,750 at 6% simple interest per annum?

a. 3 Y years b.3 % years c. 2 V2 years

d.2 %years e. Answer not known

ashpmar  opemihaefled T 5,600 suemihiE 6% saflaly aissded I 6,750 s
® UI(HLD?

a. 3 Y2 eu@pLmismer b. 3§6)J@|_r51836ﬁ C. 2 Y2 aupLmIGe6i

d. 2 §M@Lr&&m e. alenL Qflwalsdenev

10.Hiuen-Tsang visited Kanchipuram during the period of
a. Mahendra Varma I b. Narshimha Varma II
c. Rajashimha I d. Mahendra Varma II
e. Answer not known
W[GUT6TT &M WT(HEDL W S Fldb HTe0HH60 STEhFLTHHMES UHmS LTIHSTT.
a. (p&Heumd oBHHATeUTLOGHT b. @yewiLmbd ByHIbLOeITLDGT
c. ®yrey Fibwesr I d. @yewimb 10B&bHITeuTL6H
e. alewL G fwaledensv

11.The member of Shivaji's Astha Pradhan who looked after foreign affairs was

a. Sumant b. Peshwa c. Mantri

d. Pandit Roa e. Answer not known

Fourxgd gemuuiler ‘Slad LITHTeled’ Geusilume SIMFFTTS GFUWIEOLIL L auUT wmiT?
a. GFopHd b. Uageur C. WhAM

d. uewngl gmel e. alenL Gxflwalsdenev

12.State the following true statement about Special Economic Zone (SEZ)
L There is duty free import of raw materials for production
II.  100% IT exemption on export income is given for first 5 years in SEZ
units
a. I only b. II only c.Iand II only
d. None of the above e. Answer not known
eiteu(hd FmLiy QUTHENTHTT LO6WIL 60D LBMILI 2 60IenOWITeT FnBens GMILILI{H
I. o BusFHdsmen cpeolt GUTHLBEHHEG euflwcdeor BB&EGLOS)
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II. paped 5 eiBBEHSG gBDILS  auBLTaISHe0 100 alwdarh oufl  alevudE
sefdbaliLBGadBg (SEZ units)

a. ]l @B b. I o @B c. [ wmmid IT e Gib

d. Baubiled gD Bevenev e. alenL O flwealsdensv

13.Every year, “Human Organ Donation Day is observed on

a. May 1st b. August 13th c. October 20th

d. December 26th e. Answer not known

@6UCeuT(H LewiBD ‘el o mili] SHTend” SHerord Cememr M LG [HTel
a. Gw, 1 b. ey®e®, 13 Cc. &1866LmuT, 20

d. wabur, 26 e. alenL OHflwalsdemev

14.Why the Kanyakumari district is famous for Rubber in Tamil Nadu?
(i) Dry Climate
(ii)Geographical locations
(iii) Adequate rainfall

(iv) Nearness to market
a.iandii b. i, ii and iii c. ii and 1iii
d. None of the above e. Answer not known

SOD BTLIgeL HeTelm@GLoM T LD 615660 JUUHSEG LS OubmleTeng
(i) eupldwrer STevBlensv

(i) mev SemioLiy

(iii) Gmpemeuwlmer SiETe| LOMLD

(iv) omaETmUlsd Fhend o 6T

a.1 ommd ii b. i, ii @b iii C. i1 Lopb iii

d. GuBgmpiwier gaiflsbensv e. alewL OFflwaisvensv

15.Find GCD of x3-x2+ x -1, x4 -1

a.x2+1 b. (x-1)(x2 +1) c. (x+1)(x2+1)
d.x2-1 e. Answer not known

BUEUm QuTgis sryewfl &remie: X°-x2+x -1, x4 -1

a.x2+1 b. (x-1)(x2+1) c. (x+1)(x2+1)
d.x2-1 e. alenL OFflwealsdemev

16.1f the LCM of 3 and 9 is 9 then H.C.F. is

a. 1l b. 3 c.9 d. 27 e. Answer not known
3 1oBmid 9 & elewiseenr 5.8, 9 eleled Sieumpilent L5.GIL.6.
a. 1 b.3 c.9 d. 27 e. alewL Gxflwaledensy

17.Assertion (A): Abul Fazal’s Akbar Nama contains three volumes
Reason (R):  First volume contains an account of Akbar’s ancesstors,
second volume is denoted to the reign exhaustive treatment of Akbar’s, Third
volume has been given a subtitle the Aini Akbari
a. (A) is true but (R) is false
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b. Both (A) and (R) are true. (R) is the correct explanation of (A)
c. (A)is false but (R) is true
d. Both (A) and (R) are true. But (R) is not the correct explanation of (A)
e. Answer not known
gmml (A): SIL6L UTFeVlT SIBLIT BTOT 3 UTHHMSH OBTewIL G|
smyenid (R): WPHe0 UTHD  Seufer  (perCermiiae  UBPSlwE.  GFewILmb
utslb osufler g devwt uBy  alfleuTesds Snpieugl. CPEIBITLD UTSD  Sjule
SIBUMNGT Heoll  HemevLiL|
a. (A) gfl spemmed (R) seum
b. (A) wsmb (R) ofu Gyewpd of (R) s (A) olBg  gfluwmer
6 BLOTEHLD
c. (A sap gemed (R) &l
d. (A) vppie (R) e GrewiGo M epemmed (R) etesiug (A) ali@ gfwime
16T &HLO6V6V
e. alewL G fwailsdenev

18.Ibn Battuta visited in India during the time of

a. Muhammad bin Tughlaq b. Firuz Shah Tughlaq

c. Ghiyasud-Din-Tughlaq d. Shamsud-Din Muhammad
e. Answer not known

BUTET USTHT STHHeL AbFHWTalBEg ealuid QFWIST.

a. (1paBIDIDG, LN68T Hid6rTd b. QuGyTervagT ZHiberndh

C. AwnerSsSHer Hldberd d. egiberSsHeT (Lpamibiog

e. alewL G fuwealebensv

19.Satyendranath Tagore was the First Indian who was successful in Indian Civil

Service examination in the year.

a.1861 b. 1862 c. 1863 d. 1864 e. Answer not known
gSCUBBIBTS HTaT, b Gpewl umi Cziey g GeuByl GUBB (LPSH6D
BT et bs Cziey e Suemih

a. 1861 b. 1862 c. 1863 d. 1864 e. alenL Gxflwaisdenev

20.In the rise and growth of the self-respect movement, there are two phases.

Which is the correct statement?

(i) Rationalism

(ii) Atheism

a. i b. ii c.iandii d. None of the above

e. Answer not known

gw  wiwmmsd BusbssdhdHer ewFFulad, euenTdFfulaid @genih SLLD o 6wib.
Saumpsled 61 Fflwimereneu?

() uessPaTHD

(i) BrHPe

a.i b. ii C.1mmidb ii d. agleyievemev

e. alewL Gxfwealsdensv

5|Page




21.Find the total area of 14 squares whose sides are 11 cm, 12 ¢cm, 13 cm ... 24 cm.
a. 5975 cm? b. 3813 cm? c. 4515 cm?
d. 3939 cm? e. Answer not known

11 Q&5, 12 Qa5 13 QF16... 24 Q56 UHD DeTeabmend OBTewIL 14 FHIThIbereor
QTSI LUFLILIeNE| ST6NIH

a. 5975 Qg b. 3813 Q&S c. 4515 Q&8

d. 3939 Qg e. alenL Oz flwalsdenev

22.If sum of the three prime numbers are 80 and the difference between any two
numbers are 4. Find the 3 numbers.
a.2, 31,47 b.2, 37,41 c.2,11, 67

d.2, 17, 61 e. Answer not known

cpSTml  LIST  eTewidbelllell dnBHe0 80. SleummieT @ elewibelet Goupum@® 4 erefleL
SIbDH CLPEITN3|  6T6I0TH6IT

a.2, 31,47 b. 2,37, 41 c.2,11, 67

d. 2,17, 61 e. alenL Oxflwalsdemev

23.Match the following Authors and Books:

Author Book

A. Pope Francis 1. My Life in Design

B. Gauri Khan 2. Voices of dissent

C. Vikas Khanna 3. Let us dream

D. Romila Thapar 4. Kitchens of Gratitude
A B C D

a. 3 1 4 2

b. 1 2 4 3

C. 4 1 2 3

d 2 4 1 3

e. Answer not known
eiteupd s dflwim oleuT USHSHBRISemenUd CQUTHSHLOTS Eenentui(hm:

SLFMWIT USSEHLD
A. Gumi Wgmeidlerd 1. M0 eM6VL1 B6HT 196MIF 60T
B. Qmenfl  smeut 2. auTUIFed SL1 19F 6T
C. alsmerd eutemnrT 3. Geoll sjerd 19rfid
D. Ggmdeor gumir 4. HFFeterd U1 HITLIQIQUL
A B C D
a 3 1 4 2
b. 1 2 4 3
C. 4 1 2 3
d 2 4 1 3
e. alemL G Mualevenso

24.Repo rate means
a. Rate at which the Commercial Banks are willing to lend to RBI
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b. Rate at which the RBI is willing to lend to commercial banks

c. Exchange rate of the foreign bank

d. Growth rate of the economy

e. Answer not known

QruBur al&HID 616TLISHET CILIT(HEIT

alenld amSHeT MaTel amdlseEnsd DeNEGD SLabdTar g aldHlHbd
M&FT6U GURIS 6B ARIHBEHHEGH DeMBGHD SL@ISHTET U lg alHSHLD
SIbBHW GFeuTeuenl LIBHI al&HHLD

. QurmenTaTy eueni&d) al&lHd

alemL G flwalevenev

Tanop

25.The book called as “The Veda of the Tamils” is
a. Devaram b. Thiruvasagam c. Thirukural
d. Nalaidiar e. Answer not known
HLOTHellenr Couspld 6leim HIMPSHSLILBLD HIT6V
a. Gxpeumyid b. Hmaurgsid C. FmBSBel
d. pmeviguimT e. alenL O flwalsdenev

26.0! honey bee with beautiful wings (Kongu ther vaazhkai anjirai-th thumbi)
what is the second line of this poem Kurunthogai?
a. Maipattana Mamuga Musukalai
b. Kaamam Seppaadhu Kandadhu Mozhimo
c. Varaiizhi Aruviel Thondrum Nadan
d. Punakili Kadium Poongam Pethai
e. Answer not known
“Oammig GCaT ampsmae SehdFleopd SO’ — 6aald OHTLmIGD GHBHOSTENSL
uUTLedlesT @J6RILTaIH DIy 61517
a. GWLOLILIL L 631601 LOM(LP&  (LPSihaem6V
b. smob Gatiurg sewigl GmPHGwom
c. auemy @ Symaluled CHmestw [HTL 6oT
d. yensded suib ymisewt CUmS
e. alenL G fluwalsvenev

27.y :36 =2 :x=8:12. Find x, y respectively.
a.24,3 b.3,24 c. 3,54 d. 54,3 e. Answer not known
y:36=2:x=8:12 ai@fled X WBWID y WHILSMENT SHT6NIH.
a.24,3 b.3,24 c. 3,54 d. 54,3 e. alenL OGHflwaisdenev

28.1f ] 782 be divided into three parts proportional to Z,2 and 2 then the first part
‘ 2’3 4

is
a. 205 b. 105 c. 200 d. 204 e. Answer not known
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3

B w

1

E ’

OHTeNH 616016017
a

. 205 b. 105 c. 200 d. 204 e. alewL OFflwaisvensv

29.The book “Racial Elements in the population” written by
a. Biraja Sankar Guha b. Romila Thapar
c. Satish Chandra d. Ajay Mitra Sastri
e. Answer not known
‘BB OHTOBUID Db InBIH6T  616IB HITESeneT 6I(LpSHWeUT WITT?
a. UymrsmisT @eamm b. Qymbeor i
Cc. gHaG FhHAT d. oui 10&ym gmeddif
e. alemL G flwalsvenev

30.In which State Dwaraka is the Holy place for Hindus situated
a. Uttar Pradesh b. Uttrakant
c. Gujarat d. Madhya Pradesh
e. Answer not known
e  LMHlevhHev  BbgHibdeiear  Laldd  HeOmGBTe0  eimmer
SDIMLOHHI6TENSHI?
a. 2 537 LI8xhaid b. 2 gysmemi
C. GH2YH d. wHHwLIFCHaID
e. alewL G fwalsdenev

o aldgh FogHed I 782 gegl NbslLBABE eefled, (LpHed LiGaules

ST BT

31.In which among the following is considered as the First Political Speech of

Gandhiji?

a. Banaras Hindu University Speech (BHU)
b. Dandi March Speech

c. First Round Table Conference Speech

d. Quit India Speech

e. Answer not known

SdbaTanid OFTROUTSaHellsd sMhFHugselsar (PHeO DPHuied o ey  ele

La6ILBBE! 61517

LeTTIer0 @b LIeLHm6VdH HIPHLD OFTHBOILIT 6]
SHewiy WnsHHeny CFTBeuTe

W60 el L Gengy BT (H GFTBeUTLe]
GeusitenemuiBerr GeuaBupl Buiss CFTBOUT e
alewL  Gaflualsensv

©op o

32.Which candidate was defeated by Subhas Chandra Bose to beco
President of the Congress in 1939 Election?
a. Pattabhi Sitaramayya b. Jawaharlal Nehru
c. Rajendra Prasad d. Sardar Vallabhai Patel
e. Answer not known

me the
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1939-b oenip BaTeeded auTad ghaly Gumed eby Goaulumeneny CaHTBeYHSH

SHTRIBTF T FHEN6LGUTTEITIT?

a. ulLml Femymouium b. maiamiteored Gmm

c. gmBxhglen Llygns d. ggnm eusveoumus LGL 6O
e. alewL G flwalsdensv

33.Aspects of scientific attitude are
(i) Critical observation
(ii) Intellectual honesty
(iii) Impartial Thinking
(iv) Reflective Thinking
a.iand ii only b. iii and iv only
c. ii, iii and iv only d. i, ii, iii and iv
e. Answer not known
SIlaluled et ILTeTenLoUllesr  LIfl6mTTLOmIG6NT  6T6TLIME
i) &b o BBeHTHEse0
(i) oeanihs CwiTenio
(iii) uneuTLBB HbsHemen
(iv) Urduedss Fbsemen
a. i mEd ii 1 Bib b. iii @b iv L Gib
C. ii, iii BmID iV 10" HLd d. i, ii, iii @b iv
e. alemL G fluwalsvenso

34.The “International day for Biological Diversity’ is

a. May 22 b. May 12 c. May 2
d. June 12 e. Answer not known

‘FTauBshg o ufflert ueTenD’ [HT6IT

a. G 22 b. G 12 c. Gw 2
d. egeein e. alenL OGxflwalsdenev

1-3x 1
35.1f (gj = (%] then find the value of x.

a. 41 b. 31 c. 21 d. 11 e. Answer not known
1-3x E

[gj =(%J aTedlleL X -631 DI HIT6uTH

a. 41 b. 31 c.21 d. 11 e. alew QFfNuialsvensv

36.How many squats are there in a standard chess board?

a. 64 b. 128 c. 204 d. 256 e. Answer not known
RH FHITHIS LVmBUTED 615HHMeT FHITHIH6NT E(HHESLD?
a. 64 b. 128 c. 204 d. 256 e. alenL OGHflwaisdemev

37.Under the Indian Citizenship Act 1955, one can acquire Citizenship by
(i) Birth
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(i) Descent
(iii) Marriage
(iv) Registration

a.ionly b. ii only c. i, ii and iii

d.i, ii and iv e. Answer not known

Bhaws  Guflewws  FLLD  1955-1 S @l  @hHHUIS  (GQLHETTH
Gouem1(HELOGIIBTEL

(i) SpHureied LiphHmss GeuewiBLD

(i) @bHwu eubsmeueiwms Bmess Geuemi(BLD

(iii) @ObHweny wewHH ([HHE Geuemt(BLD

(iv)  oeyulmwsstal ude] CELIHHSS Couemi(hd

a.i @B b. ii w1 B c.i,ii ompud iii
d.i, i w@pn iv e. alenL O flwalsdensv

38.In which year the preamble of the Indian constitution was amended?
a.1956 b. 1966 c. 1976 d. 1980 e. Answer not known
b eWih BbHHW DFFwieusmDLILNeT (WS HHHSD GEFuiwii L gl?
a.1956 b. 1966 c. 1976 d. 1980 e. aleL OFfwealsoamev

39.Match the following
A. Manram 1. Common place
B. Saptanga 2. Administrative unit
C. Enperayam 3. Meeting hall
D. Podiyil 4. Seven limbs
A B C D
a. 3 4 2 1
b. 3 2 1 4
C. 4 3 2 1
d 4 2 1 3
e. Answer not known
QUT(HHHISH:
A. 1D&IBID 1. Qursl BLIb
B. sligmmist 2. HTaITsd GaAp
C. erewrGuiymuib 3. GnlBend BLHGHID S 1D
D. Gurguiev 4. gup Ufleysel
A B C D
a. 3 4 2 1
b. 3 2 1 4
C. 4 3 2 1
d 4 2 1 3
e. alewL G fwalsdensv
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40.Find the compound interest on ¥ 1,000 at 10% per annum for 2 years
a.3190 b.¥210 ¢c.¥1210 d.X200 e. Answer not known
oiFew I 1,000:5@ 10% oewih  auliguiled 2 SLaHIBBEHGHEG DHMLSGD dnl (
QUL IQENWIG  BHTEITE.

a.190 b.X210 ¢c.¥1210 d.%200 e. alwr Qzxflwelsvenso

41.The population of a town is increasing at the rate of 6% p.a. It was 238765 in the
year 2018. Find the population in the year 2020.

a. 286276 b. 268276 c. 248274
d. 268876 e. Answer not known
QH BBIIHH  05B6T OHTnd UewihdGFH 6% DHsMSHBH. 2018-d  DewIH
HH6IT  OFTemsd 286276 — &b QHHSHSH  oefled 2020-SID  LEWIQEST  LDSHHEIT
OBHTMHMWIDH  BHIT6wTH
a. 286276 b. 268276 c. 248274
d. 268876 e. alewL OFflwaievensy
42 Match the following
A. Quinton de-kock 1. Styrian Grand prix, 2020
B. Valtteri Bottas 2. La Liga Champion, 2020
C. Lewis Hamilton 3. Cricket-South Africa National Award
D. Real Madrid 4. Austrian Grand Prix 2020
A B C D

a. 3 4 1 2

b. 2 3 4 1

C. 1 4 2 3

d 4 1 3 2

e. Answer not known
gilwmeieuBens GLITHSHSHIH:

A. Gl 19 BT 1. evvemLflwesr @ymewn LNfderd, 2020
B. aume0GLfl Gum_Ler 2. our &Vam Gawlwesr, 2020
C. Saferd amiilevL 6ot 3. &0 -0x6 iflss Cadlw almal
D. Mwed G ML 4. gpevolgilwien &lgmewi’ LNfldéberd, 2020
A B C D

a 3 4 1 2

b. 2 3 4 1

C. 1 4 2 3

d 4 1 3 2

e. alemL G Mualevenso

43.Phase-I of the Chennai Metro Rail project covers a distance of
a. 25 km b. 35 km c. 45 km d. 55 km
e. Answer not known
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Ogaiemesr G Gymr  GQuiled Sl L HHer (WHeo &SLLLD eaHHenerr HGeom O LT
OmemiL_gi?
a.25 b. 35 c.45 d. 55

e. alemL G Muialevenso

44.Choose the right answer:
i. India League founded in 1843
ii. British India Association founded in Bengal in 1875
iii. India Association founded in 1876
iv. Poona Sarvajanak Sabha setup in 1878
a.ionly b. ii only c. iii only d. iv only
e. Answer not known
giwmer alemLenw CHMHoHHS:
i. BhAHW 65h QDNbsiur L eumLID 1843
1i. SRIF0 @HFHUl FRSD RIBTENNHSH0 1875 bLNISSLILLL .
iii. @bHw grisD 1876 SYIbINGHIILIL L &)
1IV.  Yem Fieuggerd FuUT 1878 60 SIeWIDSBUILILL G
a. 1wl (B b.ii @G c.iii wl (B d.iv wl G
e. alemL G flwalsvenev

45.The Hindus and Muslims as “Two eyes of a beautiful bride of India” was

described by
a. Sir Syed Ahmad Khan b. M A. Jinnah
c. Aga Khan d. Syed Wazir Hussain

e. Answer not known

ObHSHIBE@HD OBBID  (LPer0eSdBEHD  DHHW eIl GlLicwTenllel  HIDSBTET  @Tewni(h
HEIH6IT CT6IMI  aU(HewT HBHaUT

a. &1 UG OIBIDH BTG b. M.A. Seitenm

C. OIBT BT d. guig eudTameeng et

e. alenL G fluwalsvenev

46.Consider the following statement:
(i)  Beti Bachao Beti Padhao Scheme was launched in Cuddalore
(i) Beti Bachao Beti Padhao Scheme was launched in Dharmapuri because
Child sex ratio is the lowest in the State.

(iii) Child sex ratio for Tamil Nadu is 943/1000 in 2011 census.
(iv) Child sex ration for Dharmapuri is 647/1000 in 2011
Among the following statements, which are correct?
a. iand iii are correct b. ii and iv are correct
c. 1, ii, iii are correct d. iv alone are correct
e. Answer not known
LNeTeu(HD SnMienm LITUIS

(i) Guly wdCsm Guly uCsHT H L sLerfled SHleumISILILL GI.

i) wwMPesHCVCWL GHms Ul alHsd GmpeauTs 2 6Tenspmed  SoLffluled

Gully usCam Guily LBsHT FH LD GRS L I
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(iii) 2011-60 SOPET YL GWhemsd uTeder el 943/1000 woH6T CFHTND

BHe1HOBBLILNCD  6TTLISTGLD.
(iv) 2011-60 @whemg uteden aldsd sirwyfulsd 647/1000 sy BHESSBaI.
a.iwmpd iii gl b.ii w@pid iv &M
c.i,1i wmEmd & d.iv @b
e. alenL G Mualsvenso

47.The value of 1 hp in terms of watts is

a.726 W b. 736 W c.746 W d. 756 W
e. Answer not known

oML g6t Semibdbllge0 1 hp-uflen wdiy @b,

a.726 W b. 736 W c.746 W d. 756 W

e. alemL G flwalsvenev

48.Sun spots occur after every years.
a.15 b.11 c.21 d. 10 e. Answer not known
Giw yeelisel _ uewiGdE @b (B gBUBLD.
a.15 b. 11 c.21 d. 10 e. alemL OFflwalsdenev

49.Demonetization means
a. Itinvolves introducing a new currency in the economy

b. It involves reducing the official value of a currency in relation to other

currencies
c. Itinvolves stripping a currency units of its status as legal tender

d. It involves increasing the official value of a currency in relation to other

currencies
e. Answer not known
LI SHHI6 OFHIMLS FHmBHH60 alendamLd
a. QUTHMTHTISHH LGHul BreoilHms DBS(WSLILBGSHSHIIS

b. BB  ETIWIWRIGEHL 6T OHTLTL®LW  HTewWSHeT HFHSTILILTA DS ienL

GBS
C. @(h BT FUL(pemB CuBl, DIHT Henevenw! DIBBBIAINSH 2 GT6NL HSHIUIGI.

d. BB BrEUILRISEHL T  QHTLAUDLUI  BTewTLSHHET  DHSTFLILTer D IenL

SIFFAILnS 2 6iTen_SHHuig)
e. alewL G flwalsbenev

50.Which of the following is not the main achievement of MGNREGS?
Increasing employment opportunities

Financial inclusion

Enhancing wage earning and impact on minimum wages

. Irregularities in implementation

. Answer not known

&G syl (pememeupmien 61 MGNREGS -uier grgenen ©j60607?

a. Geuemev eumUINILIeneT HIFHBLILGGHHIH60

P oo T
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b. o eenmmés HHWILD

C. GMBHILULF Fmellenl DIFHBLILIBHSHSHISH60

d. BEOLPOBUBSBIHI60 2 6T QUDBIBHBB  HETenLD
e. alemL G flwalevenev

51.”“That is land that yields increase .....” What is the message in this Thirukkural
a. Policies of a best country b. A country’s Resources
c. Problems in a country d. Policies of a bad country
e. Answer not known
“BTOLGTIL BTLT QITHH oIl GHmeied Fnmli@B CFu1g)
a. [HeLeL BT IgBHTeT EeVHHEWID b. BT 96T 6ueTLD
C. BTLIg60 gBUBD HRIG d. Sw BT IBETET ®60dH6mTID
e. alewL G fwalsdensv

52.“Those who’ve helped you in distress” - What kind of friendship
Thiruvalluvar mention here?
a. Friendship of Learned Person
b. Friendship of Cruel Person
c. Friendship of Wise Person
d. Friendship of a person who helped you in your troubles
e. Answer not known
‘allpoh HIWLSHHAUT BLL — 66l 6UelEhalT Oligemawl bHleud GBUIGSmT?
a. sBemmT BHLL b. seibd CBTHSHSHMT HL L
C. gnei@mmT [BL L d. gyemnd padur HeoGeorm HLL
e. alenL G fluwalsvenev

53.A alone can do a piece of work in 10 days. If B alone in 15 days. They
undertook work for Rs. 2,00,000. The amount that a will get is
a. Rs. 1,20,000 b. Rs. 90,000 c. Rs. 60,000 d. Rs. 40,000
e. Answer not known
A e 8w @ Gauemevenws 10 preTdeiad B semeum  HellGui 15
BTeTdemed (RUUT. SeuTser Sbhs GCalemevenuwl ¢h. 2,00,000 CFTmddHEG @LiLd
CmewTLelT 6iedllen, A GQUEID OHTenH SIS LD.
a. 5. 1,20,000 b. em. 90,000 c. ap. 60,000 d. em. 40,000
e. alewL G flwalsdensv

54.A and B can do a piece of work in 12 days; B and C in 15 days; C and A in 20
days. How many days will finish it together.
a. 47 days b. 10 days c. 23 days d. 360 days
e. Answer not known
A oppd B @m Gamevenw 12 mrmisefed OGauiwr  qpguid. B wmppin C 15
prLsefeod, C oppid A 20 prisefleud GaFuiw (WIQUIGLDETBTEL DIGUTH6T  6T853H6m60T
BTLH6IM60 NS QIBTHE CFUIFH (LPIQLILITTEET.
a. 47 pm_sen  b. 10 pr e C. 23 el d. 360 Bt
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e. alemL G Mualevenso

55.ISRO launched a special programme for the school children titled
a. Young scientist programme b. Childrens science programme
c. Youth programme d. Special Childrens programme
e. Answer not known
£9.61610.94T.@ LI6TT6N GLHMSHHEHSHITH gBLBSIH W FBL HapFHular Hemeoli
a. ®end alehEhTelldbTer HoHLpF S b. GuwhmssEhsSTHT DNflaluied BHDFS
C. BMeNEhTH6T BBPFS d. dmiiy GwhHmesen Hoe)
e. alemL G Mualevenso

56.From the given list of tribes identify which is the largest tribal group found in
India
a. Gonds b. Santhals c. Nagas d. Todas

e. Answer not known

CaThdHalulBeten  UPEIGQUIeTT Ul uilwedsl(Bhhs @bhHuraled DHs Denalsd
STEIILGD ULDHIGIQUT6TD 6THI06U6T & 6usTL 5.

a. GomemiL THei b. gnhbseiser C. BIBTH6T d. GxLismer

e. alewL G fwalsdensv

57.Choose the expansion of NITI Ayog?
a. National Information and Taxes in India
b. National Institution for Trade in India
c. National Institution for Transforming India
d. National Integrated Trade Institute
e. Answer not known
saiiLiget alifleundesld 6T6sTent?
a. National Information and Taxes in India
b. National Institution for Trade in India
c. National Institution for Transforming India
d. National Integrated Trade Institute
e. alewL G fwalsdensv

58.Human Development Index is based on

a. Life expectancy b. Infant mortality c. Death rate

d. Birth rate e. Answer not known

weld Gubut’ (s GBIUWIG B SIQLILML LTSS CHTeNI(h DSBS
a. eumppn® b. ®ybmz Sl c. 8l afsb

d. sy eisid e. alewL OFflwaievensy

59.Which among the following is the function(s) of Food Safety and Drug
Administration Department of Government of Tamil Nadu?

(i) Licenses for manufacture of cosmetics

(ii) Licenses for manufacture of Allopathic Drugs

(iii) Approval of Blood Storage centre
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(iv) Licenses for Approval of Laboratory

a. (i), (ii), (iii) and (iv) b. (ii), (iii) and (iv) only
c. (ii) only d. (ii) and (iii) only

e. Answer not known

LT63T61(H e 6OT6UMBMIGNT S0P ST & 2 6ui6) LITGIBITLIL LOBMILD LO(HHS
BiTauTsSHHlmBUlle GFweLLITH(H6IT) 61517

(i) ©pe st CUTBL &6 2 BuSHHHE 2 M SlefdsHe0
(ii) ©BeomLig (HBHIBET 2 BLSHHHEG 2 Mo SieMsHe0

(iii) @165 G MLWSHBEG QLB D660

(iv) SpUIIsHEBEDSES @LILSH WBDpID o Mo SjeMdhsed

a. (i), (ii), (iii) b (iv) b. (ii), (iii) wBpid (iv) only
c. (ii) (b d. (ii) b (iii) only
e. alemL G flwalsvenev

60.15% of 25% of 10,000 is

a. 375 b. 400 c. 425 d. 475 e. Answer not known
10,000 @1 25% wdHinler 15% ereiig) LG LD
a. 375 b. 400 c. 425 d. 475 e. alew O fweaievensy

61.The income of a person is increased by 10% and then decreased by 10%. Find
the change in his income.
a. 0% b. 1% c. 10% d.100%  e. Answer not known

RHAUHMLW QIHLOTEND DHBAHH DIHGILNH GHOBHHH. DIOUHDLUI  QI(HLOTETSHSHE0
gMULL LOTHBBLD 61660 FHATHLD

a. 0% b. 1% c.10% d.100% e. alewr OGxfweievenso
62.Match the following

A. Rig Veda 1. Sacrificial formulae

B. Yajur Veda 2. Hymns

C. Sama Veda 3. Spells and Charms

D. Atharva Veda 4. Chants and Melodies
AB C D

a. 1 2 3 4

b. 2 1 4 3

c. 3 4 2 1

d. 4 3 1 2

e. Answer not known
&HCBp o siemaumens GCUIT([HGHHIS.

A. fés Geougld 1. wrsb Gauilpens

B. wegem Geugid 2. UITL 60861

C. gmo Geugld 3. Mh&TsD

D. oi5Teu Gsugld 4. STHHMENH6T WLBHID 6CILo60E) NS SH6iT
A B C D

a. 1 2 3 4

b. 2 1 4 3
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c. 3 4 2 1
d. 4 3 1 2
e. alemL G Mualevenso
63.Who wrote Novel about Devadashi?
a. Bala Saraswathi b. Ramamirtham Ammayar
c. Nagarathinamma d. M.S. Subbulakshmi
e. Answer not known
Cxpeummdl uBBl HTeUeL eSS WT?
a. Umev &Jeroeud) b. gmomitgd SibenLowl
C. [BT&HJSHH DT d. enb.eterd. &ijevL &
e. alemL G Mualevenso

64.Assertion (A) : Moovalur Ramamirtham was the founder of an orphanage
‘Avvai [llam’.
Reason (R) :She was a strong follower of Periyar.
a. Both (A) and (R) are true and (R) is the correct explanation of (A)
b. Both (A) and (R) are true and (R) is the correct explanation of (A)
c. (A) is true and (R) is false
d. (A) is false and (R) is true
e. Answer not known
FgBml (A) : apeueunm @ITOTAHSID DTS lBHUITET Dismal EeL60HMD
HmI6 6BTITT.
sryewid (R): oeut GQufiwimfler gHeuy FL.
a. SaBml LBHID STyewID &, SMJewd Fm@BedB 2 BISHLIBGHHISHBSHI.
b. salm wBmIb STyewid Ff, ETyewId FmBBIGEG OUTHHHN60Mm6V.
C. qmm M syewd Heuml
d. apBm seum smyewid &
e. alewL G fwalsdensv

65.Find the term which does not fit into the series below:
1CV, 5FU, 91T, 15LS, 170R
a.bFU b.15LS c. 9IT d. 170R e. Answer not known
&8 CETHEHSUILL(BHelTen OHTLMe0 GUIHHITSH 2 MILInLIS SHTENISH.
1CV, 5FU, 91T, 15LS, 170R
a.bFU b. 15LS c. 9IT d. 170R e. alenL Oxfwealsdemev

66.Replace the letter by symbols as + for A, - for B, x for C, + for D, find the
answer for the pattern 4B3C5A30D2 by doing the given operations.
a.3 b.4 c.5 d.0 e. Answer not known
A 8630 uded + aea)db B @s@l ugded - semayd C Bdb@l ukhed X eeaeybd D
BB UL + a@d dBHHEB Cdmewimed 4B3C5A30D2 eteti3  ©iewioliNest
AlleMLeNUID BHITCITH.
a.3 b. 4 c.5 d.0 e. alemL Oxflwaisdemev
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67.Select the followings tax is not a direct tax?
I. GST II. Wealth Tax III. Gift tax
a. I only b. I and II only c. Il and III only d. IIT only
e. Answer not known
spseni eufl Grryy eufl ©ledeL
I. sy6@ wBpib CFemeu el

II. Gsng g eufl
III. OsrenL  eurfl
a. ] @B b. I wmmub IT 11" Hid c. IT wmmub III 101" Bib d. III w1 Gib

e. alewL G flwealsdensv

68.The rivers are called perennial rivers.
a. Peninsular rivers b. West flowing rivers
c. East flowing rivers d. Himalayan rivers

e. Answer not known

AUMBMBTH HHHET CTGIBNIPSHHBLILL HInlQUl [HHH6IT

a. HUBMU HIHH6I b. GuBg Grrédd uTWD BB
C. Fdg Cprédsl uTuD B SHei d. @wmeowl BFHwe

e. alenL G flwalsvenev

69.Where Arasur mountain is located?
a. Easter Kerala b. Eastern Gujarat
c. Western Andhra Pradesh d. Western Tamil Nadu
e. Answer not known
DITGT 10660 SiemLDbHGHIeTeN LITCHFLOTEIS]
a. &pdb@ Gsyent b. Hiwse G2PTH
c. G SHATIICHFID d. GuBe HWOWPHTH
e. alewL G fwalsdensv

70.Sir Martimer Wheeler discovered a Roman factory at

a. Adichanallur b. Arikkamedu c. Kaliyur
d. Kanchi e. Answer not known

Gymomelw OHTHBFTENevemUI LOTTIQLOT 6f60T HewIBLIYSHS SL LD

a. QHFFHEOGVITT b. oféstGdH C. derfluyT
d. smehd e. alenL Oxflwalsdemev

71.The oldest Dravidian language
a. Kannada b. Malayalam c. Tamil d. Telugu
e. Answer not known
SHymalL  GLoTHSEHET LILDEMLOWITEIH! 61517
a. SeTeuL LD b. wemsowimend c. oD d. GOmemis
e. alewL G fwalsdensv
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72.What is the smallest 5 digit number that is exactly divisible by 96 and 1207
a. 10608 b. 16008 ¢. 10080 d. 18600
e. Answer not known
96 wpmib 120 AUl eemidenTed FAWTE QUGULS dnigwl 10BFFBW 5 Bevdbd  6T6wT
61601601 7
a. 10608 b. 16008 c. 10080 d. 18600
e. alewL G flwalsdensv

73.Find the L.C.M. : (2x2 - 3xv)?, (4x - 6y)3, 8x3 - 2713
a. 2%x3 (2x - 3y)? b. 23x2 (4 x2 + 6 xy + 9?)
c. 23x2 (2x - 3y)3 (4 x2 + 6 xy + 9?) d. 23x3 (2x - 3y)3 (4 x2 + 6xy + 91?)
e. Answer not known
18.8.0. smewias: (2x2 - 3xy)?2, (4x - 6Y)3, 8x3 - 2713
a. 2%x3 (2x - 3y)? b. 23x2 (4 x2 + 6 xy + 9?)
C. 2%x2 (2x - 3y)3 (4 x2 + 6 xy + 91?) d. 23x3 (2x - 3y)3 (4 x2 + 6xy + 912)
e. alewL G fwalsdensv

74.Which one of the statement is correct regarding Krishna Devarayar and

Portuguese relationship

I. Albuquerque was the contemporary of Krishna Devarayar

I1. Albuquerque sent Louis to the court of Krishna Devarayar

III. Many Portuguese traders settled in Vijayanagar city during the period
Krishna Devarayar

IV. Portuguese sometimes granted contributory assistance to the Vijayanagar
empire.

a.l only b. II only c. III only d. L IL III, IV

e. Answer not known

SPHWIL  FaBmiHeiled  SHmagewt  CHeamwimebGd  CUTTHHSFWIHEBSGSID 2 6iTen
© medmend GHBHH FmBmIBeile0 Fflwimer gwBml 61g?

L. s0ysTE Hmagenr CHeugTuife FIOBHTELHBHAT DLEITT.

II. opoustes Hmagen GCpagmwiflear opFmaldsd eulled 6B  UTSHMwTED]

BT HIATTH
SIDILILI6GTT.

III. GunirdhaisdFul alellaTaer SHmagent CHAUTTWIT HTeLHHD AIMQUIBHEBTHH 6L Hhid
Bmboe.

IV. Gunirggisdlwimset al®uibs) DJ&isE UL 2 Hal CFUIHIemerTT.

a. ol @G b. II io1" (hid c. III ol @Bid d. [ IL, IIL, IV

e. alemL G Mualevenso

75.Which of the following statements are true about Alan Octvian Hume?
(i) The father of Indian National Congress
(ii) An eminent Economist
(iii) President of the Lahore Session in 1893
a. (i) only b. (i) and (iii) only c. (i) and (ii) only
d. (ii) and (iii) only e. Answer not known
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OIevelT SECLallwer asluyld uBPw FaBBHeied 615 2 ewIenin?

(i) @pHw Capdlw sthdTaisr Hhand

(i) o Hpps GuImETTSTT Bl 6w

(iii) 1893 @60 6UTET SIOTATEIT FHEMeV6EUT

a. (i) L Bw b. (i) wmmib (iii) oL G c. (i) b (ii) L GLd
d. (ii) @b (iii) G e. alewL OFHfuwiaisoenso

76.The ratio of 10th and 14th term of an A.P. is 8 : 11 then the ratio of 6th term to 16th
term is
a.3:8 b.5:7 c.3:7 d.2:5 e. Answer not known
@ AP.s0 10t wpmid 14t o miiyseier aldsd 8 : 11 eefled Sibam BOHTLM6D
6™ Bpid 16™? o _mitisefler aldsibd
a.3:8 b.5:7 c.3:7 d.2:5 e. alenL OGHflwaisdenev

77 Find the value of L % of 200.

2
a. 1 b. 20 c. 50 d. 100 e. Answer not known
200 &6 l Yo  HTENISD.
2
a. 1 b. 20 c. 50 d. 100 e. alemL O MNuwalsvenev
78.Match the following:
Name of the Initiative Year of Initiation
A. Human Development Index (HDI) 1. 2000
B. Gender Related Development Index (GDI) 2.1997
C. Human Poverty Index (HPI) 3. 1995
D. Millennium Development Goals (MDG) 4.1990
A B CcC D

a. 1 2 3 4
b. 4 3 2 1
C. 3 2 1 4
d 2 1 4 3

e. Answer not known
SLPHENILaUBeNB  CLIT(H&HHISH:

GBui g6 QUi 9 _(HoUTSHSLILL L. S6wH
A. weflg Guwum' G euie (HDI) 1. 2000
B. ureden-Gamiumer Guwwun’ G @Buie (GDI) 2. 1997
C. wefls eupeno @luie (HPT) 3. 1995
D. eyuigoremip Guwum’ G Bevée (MDG) 4. 1990
A B C D
a. 1 2 3 4
b. 4 3 2 1
C. 3 2 1 4
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d. 2 1 4 3
e. allewL  OFflwaledenso

79.The sources of Non-Tax Revenue are
I. Earnings from public enterprises
II. Escheats
III. Sales tax

IV. Cess
From the above which are correct answers?
a. [l and III b.Iand IV c.Iand II d. I and IV

e. Answer not known

aufl gmgm  euHEUTUIGT  SLBHTIMHISENTTEL6T:

I. QuTgis SiemB BHBIeUETHRIBETET GU(HEUTUISHET
IL. iogewr Sreme

I1I. aiBuener eurfl

IV. Qgerd
BBov HewiLeummiel elemeu Fflwimenr allenL H6iT?
a. Il wmuud [T b. T ogpid IV c. I mpnd 11 d. T wmmnd IV

e. allewL  OFflwealedenso

80.Who gave “Atchayapathra’ (Perenial vessel) to Aaputhiran?

a. Sindha Devi b. Manimekala Deivam (God) c. Kannaki
d. Madhavi e. Answer not known
USHTDIGS SiFU UTSAIID SieflSgeuir?
a. kst Cxpal b. weniGwaseor G uieubd C. SHeNWIeNI
d. wrgel e. alew OFfNuialsvensv
81.Find below the text not written (Sang) by Namazhvaar?
a. Thiruvirutham b. Naanmugan Thiruvanthathi
c. Periya Thiruvanthathi d. Thiruvaimozhi

e. Answer not known

SLDSHHTEOTLITAUBSIED [HLOLDTLDOITT LML TS [HITeD

a. FHmalmpHHLd b. prepsasr HmaubHrd c. Quilw Hmeubsra)
d. FHmeuruiGomg e. alenL Gz MNuwaledenso

82.A Principal becomes Rs. 10,050 at the rate of 10% in 5 years. Find the principal.
a. Rs. 6,500 b. Rs. 6,700 c. Rs. 6000 d. Rs. 3,350
e. Answer not known
@ G L  Ostewaswrneim 10% ey efsb 5 euemiGsendd  @5.10,050
HOLSHH BB 61160 DIF6L 61611616167
a. p. 6,500 b. em. 6,700 c. em. 6000 d. . 3,350
e. alowL  OFMwaledensv

21| Page




83.Calculate the simple interest on Rs. 7,200 at 12 = 2 %per annum for 9 months.

a. Rs. 962.4 b. Rs. 800.3 c. Rs. 784.2 d. Rs. 688.5
e. Answer not known

. 7,200 -8 WG 12— % Al 6B aiHHHe0 9 THRIGBEHHITEOT Hell 6L Ig
4

BT,
a.em. 62.4 b. em. 800.3 C. an. 784.2 d. em. 688.5
e. allewL  OFflwaledenso

84.Dr. Shantha, Chairperson of Adyar Cancer Institute was honoured with Padma

Shree Award in the year

a. 1984 b. 1986 c. 1998 d. 2002 e. Answer not known
SILWTT  UBBIGHTUI  HiBeUaTHHT HmevauT LISLT FTHHT DIUTHEHDHE 6lhdH
e uSsNF all(hEH aUPHISILL L 17

a. 1984 b. 1986 c. 1998 d. 2002 e. alewL O MNuwalsvenew

85.The national aquatic animal of India is
a. River dolphin b. Sea horse c. Dudong d. Sea lion
e. Answer not known
@bgHwralear Chdw BHireurd o ulfleid
a. QB LmeoLlest b. L0 GFmF C. BLO LG d. sLe0 FAmisid
e. alenL  OFfluwaledensv

86.Arrange the following events in chronological order:
(i) Swadeshi Movement (i) Home Rule Movement
(iii) Non-Cooperation Movement (iv) Civil Disobedience Movement
a. (i), (ii), (iii), (iv) b. (ii), (iii), (iv), (i)
c. (iii), (iv), (i), (ii) d. (iii), (ii), (i), (iv)
e. Answer not known
L&ieu(bld [HlebLDe)sBemeN  STeu(LPemBLILIG LI IQUI6(heb.
(i) 58z Bwissid (ii) petemml & @uibasid
(iii) @SHSHIMPUITEND BUISHSLD (iv) glL wpi] Suissbd
a. (i), (i), (iii), (iv) b. (ii), (iii), (iv), (i)
c. (iii), (iv), (i), (ii) d. (iii), (ii), (i), (iv)
e. alowL  OFMwalsdensn

87.Why the Pudhu Vaazhvu Project is launched?
a. To eradicate poverty b. To reduce employment opportunity
c. To decrease economic growthd. To help the rich people
e. Answer not known
U&l eumpeyd S b g6t GOFHTLmISILLL &7
a. QDM QLASHHE b. Gauewev UTUILINLI &NBSHH60
C. QUTHEMTHTY eUETTFF MW (G6MBEHHED d. UIEEHTITHEDHEHEG 2 FH6)H6ev
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e. alowL  OFMwalsdensn

88.Tamil Nadu Water Resources conservation and augmentation mission is
launched due to
a. Construction of New Dams
b. Utilising the scarce water resources for the maximum benefit of the people
c. To control the industries to use more water
d. To monitor the water supply
e. Answer not known
“SOBTE  HTeuem  SLHTIL  UTHISTOIY  1oBpid BT Gueomewienty  Buisbsd”
OHTLMISLILL L H6iT ChTehasLd
a. ydw Siemenisell &L (Hheudl
b. simdeumd BT aleNHIGEMmeN, DHH6T CLHLTEN6D [HETENLOUIML WD 6leNHUT 60
LWSTUBGSHHL 6uend GClFuieugl.
C. OaMPIBFTMEVEET DIFHH6Me] BT LWSILBGHBINMSHS B BULGSSHIFHD
d. sevenfT alBHCWTEHMmEH HeIHT6NHH60
e. allewL  OFflwaledensn

89.Consider the following statements:
I. CO; is green house gas, it increases global warming
II. CO, absorbs infrared radiation
Which of the statements given above is/are correct?
a. I only b. II only c.land II d. Neither I nor I
e. Answer not known
LNeTeU(HD FBBIBENeNT H(HHH 6L CHT6ITH.
I usemip ®ev60 euTu], © 60H GAIILDTHMED DIFHBNHH MBS
II. ss5dauli sHT alFssmen FTHH CBTETHMBS.
GumampweuBmien Fhwmerg 6%/ eTeneu?
a. [ @Bib b. IT o1 Bib c. [ wmmd 1T
d. I se06e0g1 11 ByemiGLosoev e. alenL GaMNuwaledenso

90.The Indian Parliament adopted the Scientific policy resolution in the year
a. 1960 b. 1959 c. 1958 d. 1957
e. Answer not known
AhHul  UTITEHLEIBHSH0 DPSlaluled OFTeTems HToTeld 6bhH el  GgBmIS
OameitemiiLLl L g)?
a. 1960 b. 1959 c. 1958 d. 1957
e. alowL  OFMwalsdensn

91.Under Art 78 of the Indian constitution it is the duty of the Prime Minister to
a. Communicate to the President all decisions of the council of Ministers
b. Communicate to the parliament all decisions of the council of Ministers
c. Communicate to the Supreme Court all decisions of the council of Ministers
d. Communicate to the comptroller and Auditor general of India all decisions
of the council of Ministers
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e. Answer not known

@haw  fwevemolig  FULSHIHST  T8-eudHl  FTSHHet S umgsHl  Lgsioflest

&L OWTHF OFTeLeLLILI(HeUG

a. HIMWFFTOMULIGT DIMOHH (LPIYAFHMETUD GRUWTHS HMeV(HhHGHH OFHfalldhsHe0

b. imwFFTmMIUIGT SM@THSHI (LPIQABMETUD LITITEHOSIBEHHBGHS OFHfaldhsHe0

C. HIMDFFTMUUITT HMBSHFH (LPIYPeSHMETUID 2 FF BHHLaIBHHBESGHSH FHTalsHsHe0

d. eimFFyemnauier SmaTHH (P96 BM6TUID ShHUid HERISBTUIT LDBHBID
HMeVmIDd HewlldbmaWfiLd CFHfaldgHs0

e. allewL  OFflwaledsnso

92.Fundamental duties were added to the Indian constitution by which
amendment?
a.12th b, 22nd c. 32nd d. 42nd e. Answer not known
bdH HHHHHI (pevld DIgliienL. 2 _MewndeT @bhHUl DFFwevemoli] FL L 60
BaFTa I I19(HEHBSHI?
a.12 v b.22 c. 32 d.42 b e ol OxfNwalsenew

93.The third session of the Indian National Congress was presided by

a. A.O. Hume b. Annie Besant c. Fakruddin Dyabji
d. Dadabhai Naoroji e. Answer not known
cpIBTausl @hsHw CHdwl STmSFed oTHTH He6LMLOUTEL [HenL GILIBBG.
a. A.O. anfuylb b. el Gugen C. udbehFHer guwimiied
d. sramumyl GpenGyre) e. alewL  OFHflwalsvenso
94 . Thirunangaigal (Transgenders) - Who has written about them in
Puthukavithai (free verse)?
a. M. Rajendran b. N. Kamarajan c. M. Mehta
d. Abdul Rahman e. Answer not known
SH(HBhInBHmET UBNS Lsdbsalamsullsd umguwienT wri? GBulGs.
a. 18. grBbayest b. BT, &moyTE6sT c. (. Gusam
d. sniged FeamioTest e. alew OFfNuialsvensv

95.1f the radii of the circular ends of a frustum which is 45 cm high are 28 cm and
7 cm. Find the volume of the frustum.
a. 48510 cm3 b. 48501 cm3 c. 48105 cm?3 d. 48511 cm?3

e. Answer not known

45 Q&5 2 _wy(peen T @SenL & HMILSHHeT & LB misen (pweopGuw 28 Gg.Lf.
BmID 7 OF.15. 6Terle0, EenL HHEWIL SHH G H6T DIGNeN6UD HT6HIb.

a. 48510 Qg.13 b. 48501 GF.13 . 48105 Gg.82  d. 48511 G&.15°

e. alowL  OFMwalsdensn

96.A cubical tank can hold 64,000 litres of water. Find the length of its side in
metres.
a. 6 metres b. 5 metres c. 4 metres d. 7 metres
e. Answer not known
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QhH BOFHT auger BHTH QFHTlguimengd 64,000 LT BT GsmeeEnd safled SibHSH
T 1puUie USSGHIE HenHmd B LMled HTews.
a. 618 b. 518 c. 416 d. 7.8 e. alenL GaMNuwaledenso

97.Under which Article, the parliament has power to give financial assistance to
the states?
a. Article 235 b. Article 245 c. Article 275 d. Article 265
e. Answer not known
abd elFHulledt &b, UMTTEHLOGIBD LOTHVMISEHSG bHFHWHal DiealdbGD DIHSTILD
CuBmIeTeNg?
a. aflg 235 b. elg 245 c. alg 275 d. eig 265
e. allewL  OFflwaledenso

98.Who among the following is the first citizen of a city in India?
a. Mayor b. Chairman c. Sheriff d. MLA
e. Answer not known
BhHW jemalled HLPHERIL aUTH6M6e0 LOMHBITL FUleT (1pHe0 (GHIQLOSHE0T 6T6ATLIGUT  WIMTT?
a. IhBITL & 10653 HeENELEIT b. semeveurt
C. 261THHEM6VEIT d. gL o miilerr
e. allewL  OFflwaledenso

99.Settled type of cultivation is also called as

a. Sedentary farming b. Terrace farming

c. Intensive farming d. Commercial farming

e. Answer not known

BleveowlTenr euend  GeuerTeustenLo o160 DIMPSHBLILIBSBSI.
a. BLalLTsh aleugmuid b. G’ eLomg eleuaTuib
c. Qadiba (1pemB aTeUFTUID d. euemis eleugmuib

e. alenL  OFfluwalsoensv

100. What is the percentage of pure iron content in Hematite?

a. 60% to 70% b. 20% to 30% c. 50% to 60%

d. 40% to 50% e. Answer not known

GamwenL L auend S(HIDLUSHTHIS6MNED 2 6T SHHHomeT (BN FHATHID 616016017
a. 60% wpaze0 70% b. 20% wpmev 30 % c. 50% @pze0 60%

d. 40% pzev 50% e. alew OFfNuialsvensv
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